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INFRASTRUTTURE
NODALI
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LOGISTICA



�

� ����
����
	���������������

�

��� ��(�
����
�� ��� ���������� �
���
�� %�:� ������� �
�8�� #%��
�(������
�� ������ $�)�$�
�����
�&7� �
�����
��$������
�������
������(������$��������7����
����������$�������%��$�7���$���)��������%��������(�
���7�����
������)�����%�
�������������%�������)�7��%%����������%�������
�������
��$���
�1����
�������
��������$�)�$�
�����
�����)��������(������
��
�����
�������3���� ��
��������%�
���������
$������� 
��� %�
��� ���8�����7� ��� $�$�
��� ���8�����7� ���%������$�
��� ��� $�
��� ������ %���������� ���
��
���
�������
������(������$��������������������)����$�
���
�
�<�(�����$�
������������������
����1��������
���� #$������
�&� �8�� ����$�
�� �
� ������ (�
��$�
����� 
����� $�)�$�
�����
�� ���� ��
��� * �
���� �
�
%����������$������
�������%�������
����������
���$%�����#��
��
�����&7���
��
����$�
���������������
��
�������
� ������� ���)�)������%�����7��������� ��
��
��7���������������)����
���
�������������� ����
��
���������7� )���� �
)���� �� $������
�� ��$�� #
���&� (�
��$�
����� ������ ����� ���������7� ��
� �
�� �����
(�
���
����3���(�
�����������%���(��������������
��(�
���
��������������������1�
���
����������������
�
�
�
���%��
��%����(�
���
���%�����)������$������
��%����
�����������
����������
��������
���%�
��;�
- ����)�$�
���
- �$����$�
���������$������
�����)�7�������
�����������)����������
��
- �����������
- %��%������
�������������
������%��A�
��
- �$����$�
���������$������
�%����
���������
�����������)����������
����
���
�

�
�

�

�

�

�

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�

����������	


�




� � �� � � � �� � 	 �

�
� � 
 � � � �� 	 �

�� �
 �	��
	���� ����


� �


�� � � 
 
 ��	





��
��� 
 �



�
�
�
�
�
�
�
�
�
�
�
����%�
������)���������������������
�������������������
���
�7���$������
��%����
������������B������)���;�
�
- $������
�����(�������;�$������
�����$�������%��$�7���$���)�����7��
����%������
����������$��C�
- $������
���������;�$������
�����%��������(�
�����
���(����������
����$���������������
��C�
�
�
�
�

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

� � 
 � � � �� ��

� ��

�� ����
� �

� � � ��������� ��

�� � ��	 ���� � �	 � � ���

� �� ��� � 	 �� � ��

� � 
 � � � �� ��

� ���

��� ��

��	 � 	 � � ��

��� �� ��

� � � � �� �� �	 � ��� � 
 � � � �� ��

�� ��� � ��� ��� �


	 ��	 
� � �	 � ��

��
� � ���



�
�� $������
�� ��� %����
�� ������� �
�8�� �����)���� �
� �������
�� ����� (�
���
�� �)����� �� ��� �����
%������
�$�
������1�
���
�����������������������)���
;�
�
- $������
����
�����;��%������

�����������������$�
������%�������
�C�
- ��
��������������)�;��������������$������
�������������
��
��%������
���
���$��������1�
���
�������������

����������)��?��
�(�
���
�������%�����������
���%���(���������������(���@7�����(�

����%����$���������
%��)�
��
��� ��� ��)����� (��
������ �.�� �������$�
��� ��� %�������
��� ����� ��
��
������
�� ��
��
��� ���
(��$����
�� ��� �����8�� ��$%����7� ��$%��
��
��� ��� $�D� ��� %�������� ����������7� �����
���� ��� ��)�����
����
�����������
�����)����?%�9�����$�
����
�8������%������%���(�����@���1������%�������������������������
����%��
��%�����%�������������� ��
��������������
������
������)��%��� ���)������%�
������)�
��������
���������C�

- $������
�� %���(�����;� ��������������� ��� �
�� %��)���
��� ������ (�
���
�� ��� %��A�
�� ?�������$�
��� ��
%��%������
�� ����
�@� �� ���������� 
��� ��)����� ����
�� ��� ��$�
���� ��
�� �����$�
��� ����������� %���
����
������
�������������)������������
����
����$�
�������$%�������
���
��
�
����
���������%�����
��
������(��������$���������1��
��������������%����
�����������������
�������������
��$�C�

- ���
���� 2��
�� ?��
���� ��� �$����$�
��7� %�����(��$�� ��� ���
����@;� �
(������������ �
� ���� ��� $����� �
�
��
���
���������
������
��
������$������
����
�����7���
����$�
����������8����$%�������)�
��
��
��������)�$�
����$�������������(����������������$��������%���������$�
���
�����������������
���
��
�������� ���$����� �����
��� %������ ��� ���
���� %��
�� ��
�� ����������� �
���$�
������ ������� �
� ���
�����
?)������������
�������������
��)��������%���������@��

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
������
����)�����(��������8����
�����
�����
��������
������(������$���������$���C�
�����������(������
�����
�
�$������
��<��������
�����������((���
�����$%�
�
��;�
�
- ��$�� ��� �)����
�� ��� ����)��3� ��� %�������
�7� (����������
�� �� ����$�������� �$$������$�
��� ��

$�
�������$������
�C�
- ������%�������
��8���������������
����
�����
�)��������������������������%��������(�
���C�
- ��������%��������3�<��
�(��������$%����
���
������������������
�������
���
��������$����C�

� � � � �� �� �	 � ��� � 
 � � � �� ��

�� ��� � ��� ��� ��� � � �	 � ��


�� � �� ���


�� � ����

� �� � ���� � �� ��

��������
��

� �� � � �� �

�	 �� � �



- ��� ��� $������
�� ���)��3� �������$�
��� �� ����
��7� �%%���� ��� ����������� ��$�� �$%��
��� ��
������ %���
��(��
����������$������
������
������������������
�������
�����

�
���%����
���
��
�����7�=��
��7������3��
�����
���������������(�������)��

�����)����%����;�
�
- * ������
��2��������6�
���7�
- * ������
����$���)�����7�
- * ������
��* �������2��$���
�
�

������  ����

�

�1�$%����
�������$������
��<�$����������������
�=����������$���

���
�=��
������"���
��7����������
����%��������������������)��37�������

����
��
�����
����8�������
����������$%��
������$������
���������%�9�
%��������� (�
���
���� �� ��
�� ����
������7� %����� �� ��$�
����� �� ������ ��� �$$��������� ���� ��%������ �� ���
�����������

�����
�����
���<��8��������
��8������$$������
������8�

����������
���
��
����((�
�$�
���
��
��1������������$�������$%���%�9���(����������������$�������

����
���������%�9��%%��(�
�������������������������������������
��$%��
�������
�������������������
�����)����8��
�
���$%���<���
)�
��
����1����$����
�������$����
�������
���%�
����

� �
� %������$�7� =��
��7� ��� $��������� �(���� ?$�
�����7� �����
�7� ���
�����7� ����@7� $�� ����� ���
$����������8����
������
��������
��
��3�������������%��%������7���
��
����������$������
�

�

�

�

�

�

�

��!�"������������  ����

�
��%��
���$��=��
���<���3����������������
��

�$���)����%����������
���������������������$$������
������
%�����$�������)�������
�%��$���%%�����$����
����$������
���
;�
�

�@ * ������
������������
���3���������$�)�$�
�����
��
�@ * ������
������������
���3���������$�)�$�
�����
���
�@ * ������
�������������
���3���������$�)�$�
�����
���
�@ * ������
������������
���3���������$�)�$�
�����
��
�@ * ������
��%���%������������$������)���������
��$��%������(�
���
�$�
�������
���������$�
������

%�������
��
�
���$������
�������%���@�
������������%��������������
��8�����%����������
���������(�
����
��������=��
���3�
���$�������������$$������
���7���)���������%�������������
�����
����������������
�



�1� 
���������� %������� �
�8�� ������ ��)����� ���
��8�� ��� �$$������
�$�
��� ���� ��������� �����
���������� (����� ���� ��������� ����� $���8�
�� �%���
��� 
��� $������
�� �%���
��� 
��� $������
�7� �
�
��
�����
�������(������8���1�������=��������)��������
��8��<��������$�
���������������%�����$������
��
�@��@��@��@��@���%������
������
� ���)��������
��8������$$������
������%������������������%������$���8�
��
�
���
�������$�
���
�
��%�
��
�����������7�$��8�

���
���
�����%�
��
����������
�����
���(�
�����
� > ���������
��8�����%����
�����B����
����;�
�
�

#�!���"��$%��%%����

�
��E�� "���� ���1�%����� %��� �1�$$������$�
��� ���$��������� �
� ���
��� �
��3� ��� ������� ?��
���
���7� ���
���
�����7�%�����������%�������������������@��
�
����� !�%�

�
�� �� 
�)���� �� ��$%���� ?�
� ���%�
������ $��������� ��� �
� ���������� �
� ��� ��@� �����$�
���
���$���7��
���������
��3�����������)�
��
�����%������
�����������)������
�
����� !�%�

�
�� �� 
�)���� �� ��$%���� ��
� ���1�
���
�� �
�� ����
�������
�� ��� ���((�������� 
�
�
����%����
�����)����������������%�����$��������$�)�$�
�����
��
�
�%���������$�
���$����
��������
�
��'�� !�%�

�
�� �� 
�)���� �� ��$%���� ��
� ���1�
���
�� ���((�������� 
�
� ����%����
��� �%�����$�
���
����
�������%����1�������$��������$�)�$�
�����
������$�
���$����
��������
�
��+�� � ���((�������� ��� ����� ��
���3���� ��%������%����
��� �� %����
������ ������ �� ���%�����7� �%�����$�
���
����
�������%����1�������$��������$�)�$�
�����
������$�
���$����
��������
> ��������%���������������%����
��������
������
�8�����
���������������$$������
�$�
���?'E�+E�$@��
�
� !���"��& ���'���(�

�
�* E��  ��
��� $���8�
�� ��%�� ��������� ���)������ (��
����� �� ��������� ��� ���
��� %������7� �������7� ���� ��
%������� ��$�)�
��� ��$$���� �� 
�7� �%������������ %��� ���$�)�$�
�����
�� ��� ��
���
���7� ���
��� �����7�
%����������������������$�������7����$$�7����
���%��(�������
�
�* ���!����%�
������)��������������
��%�����������������������%�����������������
�
�* '��!�����������)��������(���8��(��
��������������%�������?��
����������+EEE�F�@��
�
�* +�� ���������)������ ��
� ������)��$���8�
�� ��� �������� ?=����� ��
)���������7� ������ ������������� ����@� ��
(�
���
�$�
�����
���$�����������
�
�* ,�����������)��������
�������)��$���8�
���������������(�
���
�$�
�������$�������
�
�
���%����
����(�
����=������������
����=������
�����%�
��
������%����
����������������)��������
��8��%���
���������������%������$���8�
���



�
� ���������������%����E��������
����
����$���8�
����%���* E�
� ���������������%�������������
����
����$���8�
����%���* ���* '�
� ���������������%�������������
����
����$���8�
����%���* '��* +�
� ���������������%����'��������
����
����$���8�
����%���* +��* ,�
� ���������������%����+��������
����
����$���8�
����%���* ,�
�
�

�
� =����1����$�� ����� ��� ���
���� $����
�� %��(������� %��:� ������ $���8�
�� ���� ��%�� �* ,7� ���<�
����$����8���

����������
���8������
������%�����$������
���@��@��@��@��@���������
��8�����$������
������%������������������
���$���8�
�7����%����
�����B���������$�
�����(�
���;�
�
�

�

� � � � ������'�����& ���  ��������

�

�
�����%�����$������
��

���������
�2�����������������������2������$���8�
��

����"@�������%%���� ������� ��������������������������������* E��
������������������������������������������* �.�* ��

�����/@�������%%�������������������� ����������+�����������������������* �.�* '�
������������������������������������������������* +�

��������������!@� ������������'��������������������������������* ,�
���������������@� ������������+��������������������������������* ,�
�������@���
������
������
��������������������

������������+���������������������������* +.�* ,���
����������������������������������������������* ���
������������E���������������������������������* E�

�
�
� �1� �8����� �8�� =��
��� �
������� 
����� �������� 
�
� <� ��������7�$�� <� �((������ ���1��%����
��� ����
%�����������������������������((����������������������������$����������$��
����
��������)��������
��8���
�
� ���%�������������)���
�8����
������
������������(�������?��������=�����������
(��
������
�$��������
��� ���� ��%������� �
���$��� ���%�
��
��� �
� $������� �� $�
���� $�����7� $�� �����)��� �����$�
���
�����������@�%�������
�����
��$����������%�9���������������������%�����$������
�;�
� 
�$���������%�����$���������%����
�����������������$������
���> ��������%�����$�������������$�
��)����


�$��������
����������������
��������"���
��7���$��#��(���
��&���#������&���#%�������&����������
� ����������
������������7�����������
�����$�
���
� ���
�$��������
��3�����������?%�����������
��
�����@��8�������������
���
���
������������
� �����%������
��3����������7�����%%����������
��
� ���
�������3�%������������
�������%���������������
���$����%�9�������������%����������
�



�����)�������$��
����
�����=������(�������%�����)����������(�
����
��������%�����$������
��
�����������
��(���
������������������%������
������%%��(�
��
��������)���������������
�7�%�����$����(�
��������%��
(�
��$�
��������$������
�����=������������$�����$������
�������8�������
����
��;�
�
�
�
�
�
������������������
#��	��� �������������
��
���������� �������������������) ����

�
�
"�������1�%����������������������������?��E��* E@�

�
�
2��������
�$�)�$�
�����
��
�

!����������(���8������
���
���%�������
"�������
 �����%�������$����$$��
 �����%��������)�������������

* ������
���������%�
������������
?�����* �@�����

!�%�

�
����
�)�������
��$%����������$����

!����%�
�����
��)�
������
�%���������������������

* ������
������
�������%������
?�����* �@���

!�%�

�
����
�)������
��$%����������$����

!�����������)���������
(���8��(��
�����

* ������
�������((����������
�$�)�$�
����
�������������(���8��
?���.�* �������* '@���

!�%�

�
����
�)������
��$%������
����((���������

�
�����%����
���

!�������� ���)������ �� (���8��
(��
����� �� ����������� ��
�������������

* ������
�������((����������
�
$�)�$�
�����
��
* ����
�������
?��'.�* +������* ,@�

!�%�

�
����
�)�������
��$%������
����((���������

�
�����%����
����

���������)������ ��
� ��$�� ��
�����7� ��$�����$������ ��
����$�������* ����������������

* ������
�������((������������%����
������
?��+��* ,@�

���((������������%����
���
��%����
�����������%������

���������)����������$������
* ���8�
��������������

* ������
��%������������$������)����
�����
��$��%����
���������$�
���

���((������������%����
���G�
!�%�

�
���������%�
���G�
"�������1�%�����

���������)��"���$������G�
* ���8�
�������������G�
!��������)����(���8��
!����%�
���G����������

�

�

�

�

�

�

�

�

�

�

�

�

�����
������
��(�����	���������������
����



�
����������$�
��� ��� $������
�� �� �����%�
��� <� ����������� ��� �
� ��%�

�
�� �
� ���%�
������

$��������� ��� �
� ��$�
��� ��$���� ����
������� �
� 
�)���� �� ��$%����� ��
��� ��� 
�)���� ������
�� ��
�����%�
�����
����%%����
��)������������?������@�%���������
����
)�
��
������������
�
� ��� ����8����� ������ 
�)���� �� ������ ��$%���� )�� ��(�
���� ���� %����������� �$%��
�������� ����
$������
�7� ������ ������������� �� ���� %����������� ���� �����%�
��� �%���
���� 2��� ��
�
��� ��
��� ������

�������37��
��
�$������
�������
���)�����%�������%�9��%�����%�������������
����$%���$�
��7��������8�����
������
�)������)�������������������������E��,�$�������
��
�$����$�����'E�$������
���%�
��
����
�8��
������%����������������%�
����%���
����
�
� �����%�

�
����)�3�������$�
����)�����
�%����
�����������������
�������$��3������
��
�)�����
�
$�������
�
��
�������������)��%%�������������������(����������
�����������������������$����������� �������
=�������%���������)��

���������%��)���������%%����
��)������(��������%����
�����
����������
��
������
����
����
��7���$��%��)������������������
� �

� �
�� �����%�
��� %����
��� ��)�3� �)���7� 
����� 
�)���� �
���������7� �
1����� �����
���� ����� ����
$�
���
���
�����������������
���%�������������������
���%%����������=�����������)������������$�
�������
�
��%%����
��%���
����
��%�
��
����
� �

!�$��$��������$�)�$�
�����
���������������%�:�����������$������
�����������������)��������(���8��
(��
�������
�$�����������
����������������
��������������
�����)�
���%���������
(���
������$������������
�������$�)�$�
������
� �

�����%�

�
������$������
����)�3��
������������������������
��$%��
����
��
��
���������=���
�8�� %���3� ������7� �� ����
��� ���� $��������� �$$������
���7� ����$������ �� �%��
A���� �%%���� �� %�����
�1��=���%���$�
��8������
� �

��$����������8��)�
��
���$$������
�����
�=��������%�����$������
����
����%�9��)�����������
���
��%��%�9�)��������
��3�����������?%������7�������������)�7������7��
���
���������@��

�
� ���������
�������
��������%������<��$%����
�����
���������������������$�
=�������������������

���
���������%����)�
�������
���)�
�����
�������������)�����7�����%������%�����������������$�
�������������
����
����$�
�����������������%����)����������1�������
�����������%�
����

�����%��(�����������%�

�
��%�:�����������
������
��
����������������
�����
�$������������
%�������
��
������1��������
����������������������
���8�������������$���������������������������
���!�:���
%������8���
��������
�����%�����)�7��%����$�
�������%�����7���������������$�
��8�
����$%����)�$�
�����
��������$�
����������������)�������
������������������

�
���
�$������������%�
���
�������������((����
��������
�)�������%��)��������%�
�������������%�����

$�������������$$������
������������
�$�����������%������
������
��������������������
�
� �
� %��)������ $��� ��� �����$����
�� ������ �((���� ��� $������
�� �
� ��%%���8�� �� ��
�� �8�����

���1�
���
��������%�

�
���!�:���$%�����������������%����
������%����������
���������%��������������
�%������
������
������������������



�
�
������ ��%������*�& !���%�$%����

��
���
�������
���$$�����7���3��������
���

�7������%�
�����
�$�)�$�
�����
������$������
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

> ��������%�����������$%��
���<�������$�
�����$%����������7�%���8H���������������������(������������
���
�
��"�,�� ������,� �����%����"������

��
����
�(�����)�7�%���8H��1�%%�������
���������$����
����$%�����������$����������%�����$�����
����?���
���$%��7�����
��$�
���������)�@���((����$�
��������)������
�
.���"�%/���!���& ��%���+��� ���������"��

���)���7�%���8H��1�$$������������3�%�����%�������=��������%������$%��
���?���<���
���3�%����
������)������
������������$���8�
�@�
�
��& ��$������& & �+�"��%�!��

�������8�����������
�)��������������$%����)����(�
��������%������������$%��
������������$������
�7�������
������������� �� ���� %����������� ���� �����%�
��� �%���
���� 2��� ��
�
��� ��
��� ������ 
�������37� �
� �
�
$������
�������
���)�����%�������%�9��%�����%�������������
����$%���$�
��7��������8�����������
�)����
��)�������������������������E��,�$�������
��
�$����$�����'E�$������
���%�
��
����
�8��������%�������
���������%�
����%���
����
�
�
�

+$�"�$��� ���& !���%��

��%����������E��

�7�%���8H�)�
���������������������$�
���
���
��
�
��$$�+�"�������,��$��������"���& !���%��

������7�%���8H�
�
����������
����
����%�����������
��3������������
�
�
�����
������
��(�����	����������
���������
���
�

�

� > ������$������
�� <� ����������� ��� �
� ��%�

�
�� ������ ������� ��%�� ��� =������ ���������� %��� ���
* ������
����!����%�
��7�$����$%����$�
������$������
��������%�
����
� �
� =������ ��%�����$������
�� ���$�)�$�
�����
�� <� ����������� ��� ������������)������ �� (���8�� ���
�%%����
��%�������������
�������$������������������
��3��������������$�)�$�
������
�
� "
�8���
�=������$������
�7���$���
�=�������������%�
��7���$�����������%��������%����
���������
������%��%�9��)��������������
�������
�����%�9��)��������
��3�����������������)��%��:���
����%����
����8��
=������ ��%�� ���$������
�� %�:� ������� ������ ����� %��� ��� ��%������ ���$��������� �)�
��� %��8�� ������� ���
�
��)�������
���
�8�������
���������<�(��$��������
�����)�
���
�$��������
��3������������
� �
������$��������%��������%�
������)���3���)�����
��
�������
�$������������7���)�������������������
���
����� %��� ��$����� ���$�)�$�
�����
�7� 
����� =����� ����

�� �����$���� �� #%���8�&� ��� �� #�������&� ���



�
��3�������������1��8������8��������
�#%����&���������
��#�������&���)�3��������(��$��������
������
��%�����$��������������������������������
�
� � ����� %����������
�� ��� =������ ��%�� ��� $������
�� �����
�� ��
���� ��
��� ��� �
�� 
��$���)�� ���
���������� �8�� %������)�� ��� %����� ������ ������� ��� ���������� �
�$���� ����� �8�� ��� %����
���7� �
� ����� ���
%�������7� 
�
� ������ %���������� ��
���� ��� ��%�

�
�� %��� ��)��� ������� %�9� ��� 'E�$����7� �
� =���������
�������
���
� �����)��%��)�������
�8���
��$%��
����
��
��
����$�
������$�
���������)���������(�$���%%����
����$�������
� "��1�����
��������%�

�
�7����%�9�)���
��%����������������7���)�3��������%��)������
��������%���
�1��������
�� ���� ������� ��������� ���� ��������� ���)������ �� (���8�� �������
���� �� ��� ������ $����� ���
$�)�$�
�����
��(�
���
�
���������������
� �

�)�
�������((���������)����%������%����
������)��

������������������
�$�������
�
��
���(������
��
�����%������
�����$������
������=��
�����%%����
��������%�

�
�7����%��������7��%%�����������
���
�
��%������
������������
�

������ ��%������*�& !���%�$%����

"�%���������
��
���$�������$�
������
�����������
�$�����%%������������������7��)��%������������$���8�
��
)�
��
������������)���������������
���(����������
������$��������
����%��������$�
������
���%�����)���
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

> ��������%�����������$%��
���<�������$�
�����$%����������7�%���8H���������������������(������������
���
* ���������
���%��(������
���((���������$������
���8H���=����������
�
��"�,�� ������,� �����%����"������

���
�(�����)�������
���������
�������
��
�����
���������$�
����
��������$%���������$�����
��������
�
��!!��%����,�$%�& ��%���& & �+�"�*�& !���%��

!�����)��$��
���������
������1�
)����$�
���%����$%��
���<���������������
�(�
���
������1�$$������
�

+$�"�$��� ���& !���%��

��%����������E��

�7�%���8H�)�
���������������������$�
���
���
��
�
��$$�+�"�������,��$��������"���& !���%��

������7�%���8H�
�
�������
���$%��
���(������
�
�

��0� �
�� ����
��(� ����	������� �� ���..����
����
���
�
�
������� �
���
1��������
���

���
����

�
> ������ ��%�� ��� $������
�� %�:� ������� �$%������� 
��� ����� �8�� ��� ���� �
� %����
��� ��� ������
$�)�$�
�����
�� ��
� ������)�$�
��� ����� =��
���3� ��� $����� �� ��%������ �� ��$�
=��� =��
��� <�

�������������(��������%���$�
�������%������)�������



���$������
����
�������
��
���%�

�
����
�)��������$%���7���
����1�
���
�������$�������������((��������
���)�������$������%%��%�������
��� ���((�������� %����
�� ������� �� %�9� %��
�� %��� ��� ��%������ �� %������� ���
����������� ��
� ��������� ���
������$�
�����$�
�)���������$���8�
�����$�)�$�
�����
���%%����������%��#���)���
&��
���$���8�
��%��
��%�������$�)�$�
�����
��%����
��������������������(���8��(��
����7��%%��������������7�
�%%���� ������������$�� ��$�
=��� ������ ���� ��%�� ��$�����������
�� ����������� !�$��$���8�
�� �����������
%����
����������$%����������
�%��������.�������������$$�����
�������
"� ����
��� ���� ��%�� ��� ��������� �$%������7� ��$���� ��� �����$����
�� ���������((�������7� ��� ��%������� ����
$������
�� �� ��� �(�����$�
��� ������ �%�����  �
�����$�
��� ��� %�:� ����� �8�� �� ��������� �� (���8�� (��
�����
��)����������������������
���$�
���
����������������������
��������((����������%��#���)���
&7�$�
������
������������.����������������)���������������������%���������((��������������������
������((����������%��#���)���
&7�%��%����%�������������������������7���
���������������%�����%���������%�������
���%%�����%������������������$���
�������
�����<�%��(���������
��$�)�$�
�����
�������%��6�6� �?%��$��
�
�����.%��$��������@7�=��
����
�%����
�������
�$������
��������%������������
���3���
�������)�$�
���
%��8�� �������� "
�8�� �
� =������ ��%�� ���$������
�� ��� ��)�3� ��
���� ��
��� ���� ��������� ��� ���
����� �� ���
$�
�)�������$��������$�)�$�
�����
����
�
!�$����3�$�
���
������$��������$�)�$�
�����
������$%���������
�;�
�
� !�����������)��������(���8��(��
�����
- !�����������)��������(���8�������������
� !�����������)��������(���8��������������
�
������ ��%������*�& !���%�$%����

"�%���������
��
���$�������$�
������
�����������
�$�����%%������������������7��)��%������������$���8�
��
)�
��
������������)���������������
���(����������
������$��������
����%��������$�
������
���%�����)���
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

> ��������%�����������$%��
���<�������$�
�����$%����������7�%���8H���������������������(������������
���
* ���������
���%��(������
���((���������$������
���8H���=����������
�
��"�,�� ������,� �����%����"������

���
�(�����)�������
���������
�������
��
�����
���������$�
����
��������$%���������$�����
��������
�

��!!��%����,�$%�& ��%���& & �+�"�*�& !���%��

�1�
)����$�
��� 
���������� %��� ���� �$%��
��� <� �����
����$�
���$����� �������� ��� ��%%������� ��� )������
����1�$$�����7� %���8H� ���� ��� ���((�������� �8�� �� $����� ��� $�)�$�
�����
�� ?���$%��;� 
I� �� ���������
����������������������������-E�$����
��G��0"@�8�

��������
�
����
�(�����)���
�

+$�"�$��� ���& !���%��

��%����������E��

�7�%���8H�)�
���������������������$�
���
���
��
�
��$$�+�"�������,��$��������"���& !���%��

���)���7�%���8H��1�
��3�����������������$�����7�����
����
�%����
���������((���������
�



�
��2� �
�� ����
��(���	�����
� �� ���..����
��� �
�� �
�
�
������� �
���
1��������
���

�
�
�������

�

!8��$�����
�8��$������
������������
���3������%�����7�%���
���������
����������������
�(�����)��
?���-�$������
���@���%���
��� �����������$�
�$���������8��������� ������������ ���
�����������$���8�
�7�
��
��=��
���$���������������%����$$������
�������
���=��
���3����$��������������%��(�������������
� 2��� ��� ����� %����������
�7� ����� ���� ����� ������ �
������ ������ ���((�������� �� ��%��������� ����
���������)������ ��$���8�
�� ��� �������7� �� 
���������� %����� �
�� %����������� ����� 
����� ��(�
����
�� ����
(�����7� ������ ��$�
���
�� ���� $������
�7� ���� 
�$���� ���� ���������)������ ��� �$%������7� 
�����
����
�������
����������������������������7�
�������(�
����
���������������1�
��3������������������
� ��� ���
���� �� ��� ���
������� $����
�� 
�
� �$$����
�� %�9� �8�� ��� �$%���8�
�� $���8�
�� 
�
�
����$����8����������
��$�
�������1�$%���������������$����$���������������
���8��������$���8�
�������
����� ��

�����
�� �������� (�� ��� �8�� =������ �$%��
��� %����
�� ������
����� �
� ����� ��
��$�
��� ���
$�)�$�
�����
����%����
�����������
1�����=��
���3��������������$����������
�%��
�������������������
���
�����������
� !�
� ��� ������
�� ����$������ �� $����� ������������ ��� �����
�� �
�8�� ��� %���������3� ��� �
�
�������$�
��� �������� ���� ��� ������������ ��� ������
�� ���� $������
�� �� ��� ������������ ��
������ ������
�������$�
��� �%%���� ��
� �� ������������ ��� ������
�� ��� �$%��
��� %�������)�� �� $�
��� �� ��� �$%��
���
���������������)�����
�
� > ������$������
�����%����
����)�������
�����%�����(�
��$�
�����

� ������((��������
� �����������)������
� ��� �������� �8�� ��
�� %����� ����� �����$��3� �%%����� ���� ��������� ��� ������$�
��� ����

���������)�����7���=��
������������((��������
�

2����
������������$�
���
�$�
������=��������%�����$������
��<�
������������
��������
�������

�$�������������8����)�
�������������)��������
����������
��1�����������������$������
�����������
%��� �� =����� ��� ��)�� ������� ��
� ������
��� �8�� =��������� ����� $���(���� %�:� ��$%������� �
��
$���(��������%���������
� �������
�����������
�;�
� > ��
���3�������$���������$$������
�����
� !�
(����
�$�
���������$���������$$������
�����
� ��%�����������1�
��3�����������
� 6������ ��� �
������� �� ��� ������� ��%������ �
� �
��3� ��� ������.8� ��
�
��� ��
��� ������ �)�
������

�%������
�����%��A�
����
���������������)�

������������
����������3�������
���
������������$�
�������1������������7�������$������
��
����
���������
��
��������������3�������
��7��%%����%��������%����������������������������
����������
�����
�������%������
�����(��$��(�
���7���
�;�

�@ ��%������
��3����������7���$�
���
����%�����
�@ ��$��������
��3���������������$$������
�����
�@ ��$�����������.8� �8���
���
���
�$������
���� �8������
��� � �$�����������.8�������������

%��A�
���
�



> ��������������)�
��%�����(�
�������
�$����������������
�������((����
��������7����
�$�������������������

�$�����������������)����������������%������7����$���8�
�����������������
� � ����� ��(�
����
�� ���� ����� ���8������ ��� ��)�� ��
���� %����
��� �8�7� ���)�� ����� %����������7� ��
���������)�����7������$���8�
������������7���
��������������
�����
�����
����������$%�
�
�����
2����
��7�
�����������%������7�<���
������
�������������
���)�����;�
� * �������
�%��
��;�)��������� ���"��"�� ��?�����:�
�
�<�%���������
�
���%�������JEED�JEE�$$@�
� * �������
��������;�
�
���%���������EEE�$$�
� 2���;�
�
���%���������EEE�F���
�
�
)����
�������������������7�<���
������
�������������
���)�����;�
�
��* �������
�%��
��;�-EED+EE�$$�
��* �������
��������;�'�E�K�+�E�$$�
��2�����
������;�,E�F���

�
�
������((����������
����������������$�
��
����������
��7�����=������%%�����
������
��3����������7����������

��������� ��
���)�
���� ���� ����$�
��
��7� 
��� ��
��� ��
������
���7� <� ��$%����� �
�� �� %�9� %����� �����
?���������
�@�� �1����
�������
�� ������ ���((�������� %��)���� 
��� ��
��� ����)������� ���� ���((���� ��$%�����
?�8��$����$�
�(��
��@�%����������������������
�7�$�
������������������7����((������%%��?�8��$������(��
��@��
 ������((����%����
�������������$%�������$�����%��(�
���37��
����������������
�������1��������������
�
�� ���������)������ ��
�� $���8�
�� ��� ��%������ �� ��� ��%����� ������ ����� �� ������
�� 
��� ��������� ���� ���
���((���������2����
��������������$�����
��%��������������%%�����
��%������)����������%�9������������
�
���������<�
����������%��)�����7�%���������
����������)�����7��
�%�
������ ���������������$�����
��
�
���������� ����)������� ��� ��������� ������ ���((�������7� �%%���� �
� ���������)������ ��� 
��)�� ��
�����
�7�
�)�
������%���������3��������(�����������
�$�$�
�������
��������������1���������$�������)�������$����
��
������ ��%������*�& !���%�$%����

���%����������

�)����
����
��%���������%��
��%��$�
���
��������$�������
����������������$����
�7�=��
���
���
�
����
�(�����)���$%���������1�������������
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

���$�����������$������
������$������<��
��������������)���������%���?$�
���
�������@��!��������������)����
������ �$%��
��7� ��� "���
��� ��
��$����� %����
��� 
���1�
���%��
����� ��=������ ��� =������ ��%�7� �
�8�� �
�
%����
����������������
��������������
�
����
�
.���"�%/���!���& ��%���+��� ���������"��

��
� ������
�� %����������� %�����$����8�� �$���
����7� ��� 
�
� ��� �������� �1��������
�� ����1�$%��
��� �
�
��
�������������$����3��
�

�
��!!��%����,�$%�& ��%���& & �+�"�*�& !���%��



��� ��%�����������$%��
��7�%�:�������
������
�8��)����������
)����$�
���%���������������,EL �����)������
����1�$$�����7� �
� %����������� �
� %����
��� ��� �$%��
��� %��� ��� ��
������� ������ ��$%�������� ��� �$����3�
?���$%��7�$������
�����$�
�����%���%����������
��������.�����������@�
�


+$�"�$��� ���& !���%��

* �������%����������E��

�7�%���8H�)�
���������������������$�
���
���
��
�
��$$�+�"�������,��$������3�$����""3�& & �+�"��

� ))��$�
����1�$$������%�:������������
)���������������
�����7��������������7�%���8H��1�
��3�����������
���� 
��)�� ���
��� ���� �=��)���
��� �� ��$%�������� ��
� �1�$%��
��� %����
���� ��� ����
)�����
�� ��)�
���
�������
������������$�
�����$�
�������1�$%��
��7���
�������%��:����
�(�����)���
�
��$$�+�"�������,��$��������"���& !���%��

�1�$%��
��� %�:� ������� ����
)������� %���8H� �1�
��3� ��� ������� ���� 
��)�� ���
��� ���� �=��)���
��� ��
��$%����������
��1�$%��
���%����
����
�
�

�

��4��
������
��(���	�����
������..����
����
�
�
�������

�

� ����
�%�
������)������$%��
�������7����<������$%������
��$����
��������$������
�7�
�
������
��
���
�(�����)�� ��((���
��� ��� =��
��� �
������� 
��� !�%������ %������
��� ��-� ������)�� ��� $������
�� 
�
�
����%����
���� �1�$%��
��7� <� �
(����� �����
����$�
��� ��$%����� ��� ���((�������7� ���������)������ ��
$���8�
�������������������((���
��7��
)������
�;�
�

� * �
�����
��
��$%��
�����
����((��������
�
�����%����
����))��$�
���������)��$�����(��
������
�
�� ��%������� ��� $������
�� 
���������$�
��� �
������� ���1�
���
�� ��� �
� ��%�

�
��
%������
��$�
������(�����7��
�=������������1�$%��
������������%%����������%������������
����
=��
���
�
���������
���%�

�
���

� ��� ���((�������� ����%����
��� ��)�
�� =��
��� ��%%������� ��� �����7� �� ��� ��$%�
������ �8�� <�

��$��$�
��� ��$%����� ��� %�

����� ��%%�� ��
� �
���%����� �
�� ������� ��� �����
���
?��$�
�$�
����8��$������
�M ��8@��

� > ��������%�����������$%��
���<��������)�$�
���%��)�����%����
��3������������=��)���
�����%�������
?���<�
�
�����$��$����
�%����
�������
�$������
������$����������%����
���%�����������@��

�  ��� �$%��
��� ����%����
��� %����
�� ������
����� 
���)���� �)���%%�� �
� �������7� ��
�� ��� �
�
$����$�����+E�$������������

�
������ ��%������*�& !���%�$%����

���%����������

�)����
����
��%���������%��
��%��$�
���
��������$�������
����������������$����
�7�=��
���
���
�
����
�(�����)���$%���������1�������������
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

���$�����������$������
������$������<��
��������������)���������%���?$�
���
�������@��!��������������)����
������ �$%��
��7� ��� "���
��� ��
��$����� %����
��� 
���1�
���%��
����� ��=������ ��� =������ ��%�7� �
�8�� �
�



%����
��� ��� ������ ��� �
�������� ������
�
���� > ������ ��%�� ��� �$%��
��� <� ����������� ��� "���
���
$����.���
����
�
.���"�%/���!���& ��%���+��� ���������"��

��
� ������
�� %����������� %�����$����8�� �$���
����7� ��� 
�
� ��� �������� �1��������
�� ����1�$%��
��� �
�
��
�������������$����3��
�

��& ��$������& & �+�"��%�!��

���(����7�
�
���������$$������
�

+$�"�$��� ���& !���%��

* �������%����������E��

�7�%���8H�)�
���������������������$�
���
���
��
�
��$$�+�"�������,��$��������"���& !���%��

�1�$%��
��� %�:� ������� ����
)������� %���8H� �1�
��3� ��� ������� ���� 
��)�� ���
��� ���� �=��)���
��� ��
��$%����������
��1�$%��
���%����
����
�
�
��5��
������
��(���	�����
�����������1��������
��
�
�

�

� ������������$������
����
�����������%�����%������������$���������$��������������
��$��
���������%���
�1���������� ��� �
�� �������$�
��;� ��� ���
���� %����������7� =��� ���������7� ��� ������� %���������$�
��� ��
$������
������������$�
���$��������
����
� 2��� #)���� ��� ��
��$�&� ��� �
��
��
�� ������ =����$��������� 
��������� %��� ��� ��
�����
�� ��� �
��
�������$�
��� ��� �������
�� ��� ���� �
� ��$����7� �����(���
��7� )��
���7� ��(�������7� �������
��7� %��������
�8�$���7�%�����=�����
��������
���������%������������8����$�
=���(�

��%���������1�$%��
���#* ������
��
 �
����������$��&��
� � ����� ������
�� ����
�� �������$�
��� ��$%����� ��� %�9� �$%��
������ %�������
�7� �
�8�� ��%�����7�
��������%�9���
)�
��
�����
��������������$������
����
�������
���8H������������$������
�������%�������
�
���� $���� ��� 
�$���� ��� ��%�� �� ��� %����� ��� ����$���� �� ��� )���� ��� ��
��$�� %����
�� ������� �
�(�����7�
��$�
��
��� ��� =��
���3� �� ������� �� =��
��� �1�$$��������� ��� ��%�������  �����
��$�
��� ��� ���
���� ����
$������
����
�����������%��)�����8���������$������
�������������(��
�����������
�����)�����$%��
�������
����$���������)���������
��$��
����������6��������)�����%���������3��������$%��
���������������(��
������
�
=���������$�$�
������=��������$���
���������%��������%������
������$����
����
�
� ��$�
���
��$�
������)�������%����
����)�����;�
���
�)������������������8����
��)�������%���������$�
���
�����8��%����
�����������
��
����
���������������
�
�$������
����$�
��������?$����$��$�������������������JEEN,EEN'EE���%����$����$���EE�F�@�
���
�)����%���������������%������=��������<�����)������������
�����(�
����
�;���
��)�����8��%����
���������
��
��
���� ��� �
� %������ ���$������ �EEEN��EE�$$���� �
�� �������� ��� �
��3� ��� ������� ��� 5EE�$$���
�
$����$��%��������%����������EEE�F��
���
�)����
�
�%��������������7��8��������
���
�%�����.���
�$������=������%��������������7���������$�������
��%�����
���
����
���)������������$�����
��
1��������1�%������
�



� �1�
����� �$%��
��� #* ������
��  �
�����&� )��
�� �����)���� �
� =������� �
��3� (�
��$�
����� ���
$������
�7� �����
��� ��
�
�� �
�� ��%������� ���������)�� ��((���
���� ��� ���� �
��3� (�
��$�
����� ���
$������
����
����������(�
�����
;�
�
��* ������
��#"&���)�����
������
;�

��* ������
��#"�&�������%���������������
�$�
���������%���)��������������������
- * ������
�� #"�&� ���� ��%�� �� ���((�������� ����%����
��� %��� %������� ��
�

���������)������%���)����%����������������
�
��* ������
��#/&;��

����������� ��� �
� ��%�

�
�� �
� ���%�
������ $��������� �� 
�)���� �� ��$%���� ��
�
�����%�
��������)�����%�������%���)����
�
�%����������������

�
��* ������
��#!&;�

����������� ��� �
1����� ���1�%����� ��
� �������� �� ��������� ���)������ �� (���8�� ���
���
���%�������%������
���)�����

�
������ ��%������*�& !���%�$%����

������ ����$�� �

�7� ��� "���
��� 8�

�� �������� ��� �
�(��$���� ��� ��%������� ��� �
��3� ��� ������� �� =��
���
������������$%��
���#���8��&��
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

"���
�������$���������8�������)������
���
����
���� ��
��
���� �������* ������
������$����
�)����%����7�
%�����������������
�����������%��������?������$%��;�"������$�@��
�
��"�,�� ������,� �����%����"������

2����
������)���������

�)����
����3��
�������%�����
����%�����������$%��
��������������
�
��& ��$������& & �+�"��%�!��

�1�$$������ ��)�� ������� ��� 
���)���� ��$�
���
�� �� ��
� �
1����� ���1�%����� %��� ��� ����������� ��� ���
���
����$����
�
��!!��%����,�$%�& ��%���& & �+�"�*�& !���%��

�����$%������3��������$%��
�����������������%��)�����<�%���������$�
������
�(�����)����=��
�������$%�����
���
�$�����
�

+$�"�$��� ���& !���%��

��%����������E��

�7�%���8H�)�
���������������������$�
���
���
��
�
��$$�+�"�������,��$������3�$����""3�& & �+�"��

���%����
������$����%������$%��
������
����������
�����((����������������
)�����
������1�$$���������������
�$%������
�
��$$�+�"�������,��$��������"���& !���%��

���%����
������$����%������$%��
�����
�����((����������������
)�����
�������������������������$%������



�
�
0��
	��������*������

�
��� ������� ����������� ����
����� ���� �
���
������������ (�
���
�� ���������7� ���<� �)�������� ��
��
��%��%����
����
�������
�� �7� �
� �����
���)�� ��������������7� �((���
����� ��� ��%����� �����
�7� ��%�
��� ��� 
�$������
(���������������������%�����������%���������������������)������
�7�����������������
�������
���������)��������
��������%����
�������1����$�
�����
��� �����������������������
�=����������$���

�����<��
�����%��������)�$�
����((��$�
�����%����������
�
(�
���
������1�)������
������%�
���$������������)��$�
�������
� ����������������$%��
���������7���
��)��$�����������
������)��%��)������
����������������
��
�������������
�
���������������
��������
�������������)�����(��������%�������������������
�
��� ������ ��
� �
� (�
��$�
����� �������)�;� ����$������� �� ��$%�� ��� �� ������ 
����� $�)�$�
�����
�� ������
$������
�
* �����)�����������������������
��
�
����%�������������
���%����
��=������
������������$�
�������������
$���
�8��%���$�����������1�((����
������������)�����������������
����
��� ������� ����1�����$�
��� �� ���� (���� ��� ����� ��� <� ��$�������� �
� $����� ����� %����
��7� ���%�����
���1�((���$�
��� ��� �%�������� �����
�� �8�� ���%�
��
�� ��� %���������3� ��� �
)����$�
��7� A
�M �8�M � ��
������)��3�������$�
���%�9����)�����
�
�
��� �
1�
����
�� ��
������ ��� * ��A����
�� �
���
����
��� ?�	 � ���������7� �JJ5@� ����)��$�� ��� %��
��%����
$���)����
�� �8�� �%�
��
�� ��� ����
��� ����� ��������������
�� ?��%������� �
� ����
�� ��������
��� ���
�$%����
���@�;�
�
�@ �������
����������������������������)��3�����������������C�
�@ (�����������
���������%���(�������������
���C�
'@ $��������(����������3��%�����)�C�
+@ ��$�
������%�������)��3�����((����
���
���1��������
������������)��3�����������������C�
,@ $�
��
������%��%�����
���
�����F
�M �8�M ��%��������������������
��������

�)���)�C�
-@ ��$�
���������)����������������
�����������)�����?����)������1�
���
������)������1�����
�@��
�

�
�
�
�
�
�
�
�
�
�
�

�	 
� ��� � � �� ��

� � ��
	 ����� � �� �� � �

�

���
� ���� ��� �� ��� � � ���



�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

�

0����
������
���6�
	��������*����������	�������������7�

�
���%����
�����
��(��������)�������������8����
����
����� ��
���"���
����������������������
���������)����
���������;�
�
�� �1����
��� ����
��� �
��)����� ��� (��
������ ��� ���)���� ���������� ��
� ����
�������� =����(���� �� ���������

$������������7���$����
����
���
����������(��
������������)�������������7������((�������������
��������
����)��3���������8�C�

�� �1����
�������
������������
�� ������%������
�%��%������$���1����
�����������������%�:��))�
����
��
���������������
�����%����
����?��������� ���@����1�%��������������)���������������8��%��))���������
������
�� ��)	����� ������ ����)��3� ��������8�� �7� �
� �����
���)�7� ��
� ��� ������
�� �
�8�� ��� ����7�
�%%�����8������� �� �$%��
��� ����1����
��� ����
���� ����
��� =������ �%%������� ��� ��
�� �����������
����
��$�
��� �$%����
��� ��%����
��� ��� ��������	��7� ��� ���$%��� 
��� �������� ����� ������ ��
���$�
�����(����8�C�

��� � � �	 � ��


	 � � ��

�

� � � �� � 	 �

� ������
��� � � �

� �
 ��	 �� � �� � 	 �

� ���� ��� �� �	 �



'� �1����
��� ����
��� ������� ��� %�����$���$�
��� �������)�� ������ ����)��3� ��������8�� ?$�)�$�
�����
�7�
����%����7�$������
�����7�����@�$��
��$�
���
�������
������7�����������������%�
������3�����
����%�9�
(��
�������%������������%�������
��������)�����> ������%�:��))�
��������
�������$������3;�

� �1����
�������
���������
����������)����7��%������������
������)�����%������
���
���������
�7�
�8�� ��� ��
(������ �����
�� ����� %������
��� (�
���
�� ����
����� ��� ���� ����)�� ��� ���������
* ����
����
�%���������������)�������(�
���
����������������
1����
����������(��$���
�������3�
��� ���)���� ���������� ��
��� ������ �� ��� ��)����� ���$������� �����
�7� %���$�
��
�
��� ?��$�
��
���1�
����@���$������
����%��
��%�������������
����������������������1����
������%��)�
��
����
���$%���$%����
���%����
��������������
������
��������������������������$������7����$�
�����
����8�7���������$�
��7��8�$����(��$��������C�

� �1����
��� ����
��� �� ��� (��
������ ��� ���)���� ���������� �)���%%�
�� �
1����)��3� �$%��
����������
��
���
��7� �8�� ��������� ��� ������ %���������3���� ��
������ ��
� (������ �����
��)�� �� ��
�����������
��%����
��������%����
����%��������������$%�����=��������%�������
�������
������
�����������
%
��$�������7�����
��$�
��7�
��������������$�
�����(����8���

�
�
�
�
�
�
�
�

�
�
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

�

�

� � ��� � � �

�	 � � �� 	 ���

�� � ��	 �


�� � �	 � ��

�� � 	 �

� � ��� � � ���

�� � �� �� � �

� � �� �

�� ��� �� � ��� � ���


	 � �	 � � �� 	 � ��

�	��
���
 �� ��
 
 � ��




�
�

�
+�� ��� (��
������ ��� ���)���� ����)�� �� %�������� �������$�
��� ������ %�������
�7� ��� � �$$������
�7� ����)�� ���

��������
�� ��� �%������
�7� %��%���� ��� %������7� ��� �%������7� �((������ ��� ����%����� �� ��� ��
���
�7�
%��))�������������������$�
�����
�������������$%�$�
�����
�������

,� ��� (��
������ %�:� �((�������� ������ �
�� ������ ��� �%������
�� ����������� =����� ����
(����
�$�
��7�
%����
���������
�7�����8�������7�(���������
�7���
�������
�7�������
���������

-� ��� ��������������
�� ��� �%%����� 
��$��$�
��� ��� %�������� (�
���7� $�� %�������� ��(������� �
�8�� ���
$����������������$�������%��$��

�
�
�
�
�
�
�3�--���������"�-����%�������$��,� ��

�
�� ��������������
������%��������(�
����<��������$�
�������������%�����$���������)�������� ����
�����

���������
��������=�����3�
�� 	
1����
����%������������%�:�����
�����$����������������)������8�����=�����3�
'� 	
1����
����%������������%�:�����
�����$���������(����������3����%������;�
� 0�������
������)���$��
� 2����
���������
����������
�����
�������
���
��

�
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

����
� 
�� �� ���� �� � �� ��

�
� � � ��� � ��




� ��� �� �	 �




���� � ������ � ��



�
�
�
�
�
�
�
�
�
�
�3�--����� ����"�-����%�������$��,� ��

�
�� ���(��
������������)����%�:���
���������((����
��;�

��� �����(������������������
�������� �����(�������%��%������
��������%�������
�������� �������%�������
����������������
��
�������� ��������$���
(��$���)������$$�
�������)��

�� �����
)�
��
�����������������������
��%�:�����)����%��%�����������((����
�����
�����������
�=������
��������

�
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

����
��� � � �� ���� ��� �� ��




� � 	 

� 
 
 �	 �

�
��
��� 
 �




� �� � ���� � �	 � ��





 �� � �	 � ��



�
�
�
�
�"�$��,� ����--��%����""��%�� ����  � �����

�
�� 6����������3����%����������)�������
������)���$��
�� 6����������3����%�������)�������
����������
�����
�������
���
��
'� 6����������3���������������
�����(��
�������������)������������
���
+� 6����������3����%�������)�������
����������$�
���
��������$�D����������������
���
��
�
�
�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�"��"���%����""��%�� ����  � �����

�

���� � ������ � ��� ���� ��� �� �	 �




� 	 �� � ��

�

	 � � �
 � � �




� ��� �� ��




� �� �



�� �1����
����8�������$%���
����������
����
�� �1����
����8��8��%�����$����������������
���������������
'� �1����
����8��8��%�����$�����������
��
�
�
�
�

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
	��������%�� ����  � �����

�
!�
� ��(���$�
��� ����� ��������������
�� ���� ���)���� ���������� �
�������� �
� ������� ��� <� �
����� �
� �
�� (����
%����$�
���7���
���((���
��$�
������=��
����))��
��
�������������������%�������1�
����
��������#����
�JJ5� 8�� ����)���� �8�� ��� JEL � ������ �$%����� ������
�� $�
�(����� �
�� ������ %��%�
���
�� �����
��������������
�� ������ ����)��3� ��������8�7� %��� $���)�� �8�� ��%�
��
�� ���� ��� (������� ������������ ���� ���
�������3�����$�����������1�((������������)������


� ��� ��� �� ��� � � �

� � ���� ������

�� � �� �� � �

�

��	 ���� ��� ��

� �� �� ���� � �	 � ��




� � ��� � � �

��	 ���� ��� ��


 �� � �	 � ��



�����
���1�������������������=������%�9����
���$���������������������%��7�������������������������������
��
������ ����)��3� ��������8�� <� ������)�$�
��� %���� ��((���� �
� =������ 2����� ���%����� �����$����� ������ ������
2����� ����%���� !�$�� �)���
������ ������ ������� ���8�%����� ������� �
� %������
��� ��� ������ ���
��������������
�� ������ ����)��3� ��������8�� �
� ������� �������� ���� �� %�9� ������ �
� ����%�� ?��)���� ��@� ��� <�
�����
������������������
�(�����)�$�
���
���%�����$��(������?=��������,L ����1�

�@��
�� �
�

�� ����� 	��������%�� ����  � �������""���%%�,�%/�"���$%��'��

������"�,� �����9�::;<������������,�$�����9�==�<�

�����& ��%���

>? ��

	F� '+L � '5L � GJL �

6��
���� �5L � ''L � G��L �

/�
���D� �,L � �4L � G��L �

 ��$�
��� �'L � �4L � G��L �

�)����� ��L � �-L � G�4L �

��
�$����� �EL � �+L � G�EL �

�%��
�� �4L � �'L � G�4L �

������� �'L � �-L � G��'L �

�

�
�
��,�"������K� ����������������������
������������)��3���������8��
���%���������%����
�.����!�$ ��/���������������������� #0 ����������"�����1-�

�
����
����
�� ����������
��������������� ?2�����������
��� ����������� �������� �
����������� ���� ���� ���

������7��JJ5@���
���(���$�
������������
���������
�7��������)��3���������8��$������$�
��������������������
%������������������EE�����
�����������
��������$%��
����
��=�������8����������
��������%��������������)��3�
��� ����� %�9� �������$�
��� ����������� ����� �
� $�
�$�� %����� �������
�� �
)���� �������������� ��� ����)��3�
$������$�
���������������(�����������������������%�������
�7�=����������
����������=�����37����������
��
����������
�����������)��3����%��
�(������
�����$$�
��������
����
"
�8����������������1���#��@�����A� ?�JJ'@����$�������������� ��������������
������������)��3���������8��
��
� ��(���$�
��� ��� ��$%��
�� ��� �EEE� ����
��� ����%���� ��� ������ ��� ��������������
�� ������ %��
��%����
����)��3���������8������
���=��
��� ��%������������������������!�����������"�"�F���
�O�<�%����
�����

�������)�����������������
�
�

	��������%�� ����  � ���������"�����-�� �����

"���$%��'��(�

.��%��(�

���@�����A�

�::0�

.��%��(�

�����

�::;�

����%���������%%��))����
�$�
��� 5+L � 5+L �

����%�������������������
�� 4�L �

�����
�$�
���$����� '5L � -4L �

�$$������
�$�
�������%������$����� ',L � ''L �

2�����)���������������%�������� �'L �



!�
����������=�����3� 5L � 5L �

�$���������7�����8��������7�%���������� JL � �'L �

"�������)������
��?��27�(���������
�7�P @� 5L � �EL �

�
��,�"�����K� ����������������������
������������)��3���������8��
�
�
�
�
�
�
�
�
�

�
�

�

�

�

�

��,�"�������K� ����������������������
������������)��3���������8����������������������
.��%�(���#@�����A�96��$��'%�%���& !��%7B��::C<�

�
������ ������� !���� �������� �8�� �� ��)����� ��
���������7�$�
���� ��� 2* �� ?%������� ��$����� �$%����@� ��
��
������� ��� ��%%����� ��� (��
������ $�
�� ������������ �� ��� ���)�� ������� ?��
������� �

����@7� ��� ���
���
�$%����� ��
��� �� �)���%%���� �
� (����� ��
������� ���� %�������� ���������� �� ��� ����%����7� %��
��%��$�
���
�����)����� �������
�� ��� %���
���8�%� ��
� �%�������� ������������ �� ������� ��� �
�� ����� ��� �������$�
���

����
��������
���
����
�������"
�8��%���=��
���������������������(�
���
����������8��
�
��������%����7����
���
��� ����
��� ��$�����
�� �
�� %��%�
���
�� ����� ��������������
�� $�������� ������ �$%����� ���
��$�
���
��%�9�%����������������������!�����������7�������$%��7��8�����$�������
����������$%�����������
������� ��� (��������� %�9� ����� 8�� ��$�
�� �
� %����� �������������� ��� (�
���
�� ��� �$$������
�$�
��� �� ���
���/���7�$�
���� 
����
�� ������ ����
������ %���������$����$�
���
�� ?$�
�� ��� �E�$�������� ���(���������
�

��@�8����������������
�%%�����
�%����������(�
���
����
�
�
������ ��%������*�& !���%�$%����

��� �
� %�
��� ��� )����� �$%��
�������� ��� ����)�� ��� 
�������3� �� )���
�3� ��� �
���$�
����� ��� ������
��
�
(��$������������1����$����
���������$%��
��7��)��%����������
�
��$$�+�"��$,�"�!!��-�%������"�& ����%��

��� ������� * ��A����
�� �
���
����
��� ������� ��)���� �8�� ��� $�������� �%�������� ���������� ������
��
?���
����������@�����%�)����3�
����JJ-������������$��%�����
���������������������%�9����
���(��
���������
���)������������������%�����������
����%������������%������������
��%�����$�
���
��
�
���$%���� �������
%��$���E�����
�������%���$�
�������%�9����
���(��
������������)������������������%���?�D������������@�<�,�

Trasporto

Stoccaggio

Gestione trasporti

Information Technology

Servizi a valore aggiunto

Allestimento ordini / fatturazione

Gestione logistica

50%

18%

23%

12%

20%

40%

39%

76%

300%

160%

44%

2%

5%

16%

Quota terziarizzata 1998
Aumento previsto  1998-2003
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